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Midterm
Total Points: 5 ? out of 58

Introduction (10 Points) /.5
True or False. (3 Points) Mark the following statements as either True (T) or False (F).

1. T  Writing is secondary to speech (i.e., you do not have to know how to write to
have knowledge of a language).

©
J

IR, 2. E  Sound is a purely physical phenomenon. We know this because of the McGurk Effect.

W

©  Linguists are mostly concerned with translation and interpretation.

4. T Most morphemes have an arbitrary yet conventionalized connection between form and
meaning.
5. T The ultimate goal of linguistic investigation is to write down observed speech

(observational grammar).

6. _ T  Signed languages have grammar.

- Popular Music. (3 Points) We will listen to clips from music by Beyoncé and Ne-Yo. Pay special
attention to the word down in each clip. Identify which one is sung in a more iconic way and explain
your answer.

y, Lo ," 2 ( LCS [,\\'(‘r'\\ AN ”’l;? '}“‘1"( ?17\‘5 Y
q{

o Ao dowt He wod. O e ether Thand, i

Writing Systems. (4 Points). Omniglot provides the following information about the Korean writing
system: The shapes of the consonants are based on the shape the mouth made when the corresponding
sound is made. An emoticon (emoji) for “happiness” in Korean is written as A_A (literally [sis]). Is
the iconic use of the Korean script in both normal writing and the emoji the same? Explain your

answer.
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Phonetics (17 Points) f{//

Transcription. (4 Points) I will say the following (except for your name). Write the words in narrow
English IPA transcription.

e, R ,
olzA€in |

pure L phjuwal drain

. Ta .+ n 1
history L hasteai | ~ (your name) [khevan

Spectrograms. (2 Points) Identify the properties of the following segments in the Wangurri
spectrogram by circling the correct answer.
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Segment 1: (;lilpsi\g Fricative Glide
Py .
Segment 2: Voiced ) Voiceless

Segment Descriptions. (5 Points) Provide the full description of the following.
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Midsagittal Section. (4 Points) Identify the American English IPA segment represented in the

following image. Provide prose explaining why it must be this segment. You must call out specific
articulators in the image.

American IPA segment [ n ]

Phonetic Observation. (2 Points) During the 2016 presidential race, one candidate in particular was
notorious using a phrase along the lines of either “big league” or “bigly”. Linguists from the University
of California, Berkeley held a viewing of the first presidential debate on campus. At one point during
the New York debate, the candidate uttered the phrase and the phoneticians at the viewing determined

that the the candidate was saying “big league”. Which phonetic observation tool did they use to
determine this?

a. Stroboscopy b. UltraSound  (c)  Spectrogram  d. Palatography

Phonology (17 Points) +//. 4

| K-Pop. (7 Points) Amy Lee (Ailee) is a Korean-American singer. You will analyze the following lines

of her song Heaven and respond the question prompts below. (Note: the symbols [dz, (] are Korean
consonants, [w] is a Korean vowel, and * is a diacritic used for tense consonants in Korean).
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Refrain: [ju ax mar ounli wan wer
odzik natwl wanher
neiga ni kjate is*wme kamsaher
ju a1 ds ounli wan ber
himdwn sesan soger
saranal algel
heidzuin
na hanaro nanun henbokher]

0~ N Wi —

1. Provide the standard English orthography for lines 1 and 4.

Line 1 v \,'Cv[\ Q€ my oNty OWn¢ WO

Line 4: Vou gre e . one bo

2 Provide the name of the device that is used in this song to make it catchy. Draw trees that illustrate
the device in the space below.

i boua wied. Twhe -hat Fhe dullabic Mwwie A idetecal gy
( ¢

;\/

(\

3. What is unique about her particular use of this device? Provide an example.

Hew wee of  Hwg o d W it Le bocoae it dpon. lovaion ¢4

( cralizh wd Awel 235 ¢ , ) v oldleront s
f 1< t O &
i

Burmese Phonemic Analysis (10 Points). Burmese is a Tibeto-Burman language spoken in Myanmar.
In the following data, account for the relationship of the voiceless segments (written with ¢) with
respect to their voiced counterparts. You may ignore tone in this problem.
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[mi] - 'fire' [nie] - 'fine, small'
: [mwéi] - 'to give birth' [nwa]-  'cow' " |
[ ) m
< 7 - .o . A = o —
3 T mE [mji?] 'river' [na]- 'five' hl h ; . | l .
Tl # o [mjwan] - 'ditch' [gou?]” 'stump (of tree)' :\, \ hiw nfa
| e ., . W hly
‘. ( [mjin]-  'to see' [min]-  'old (people) b ; : é
# |w [ne] 'small' [hmi] 'to lean against' i {
#‘ i " . A ] ‘
. % [nyi?]- 'dirty’ [hmwer] - 'fragrant’ ;’3
# [owe]-  'to bend flexibly' [hmjaj?]" 'to cure (meat)' f
[hmjaw?]" 'to multiply' [hmown] - 'flour, powder'
[hnéi] 'slow' [hnji?]- 'to wring, squeeze'
[hnwéi]- 'to heat' [hnje1?]” 'to nod the head'
[hpja?]  'to cut off (hair)' [hna]’ 'to borrow'
[hne?]-  'bird’ [hin] ‘curry'
1. Describe the distribution of the segments under analysis. You may write the distribution charts on
your scratch paper, but you will only get credit for a prose description that makes use of proper
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2/How many phonemes are there? Draw the schema to show how the phonemes related to the phones | [hye!
under investigation. ‘
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; } If there are any allophones of the same phoneme, provide a generalized rule that accounts for the
alternations.

Morphology (14 Points) ILi

Bukusu. (8 Points) Bukusu is a Bantu language from Kenya. Look at the first person singular verb
paradigm for the following verbs. Note: [n], [x], and [B] represent a post-alveolar nasal, a voiceless
velar fricative, and a voiced bilabial fricative respectively. Length on vowels is marked with : , but you
do not have to account for vowel length.

ndila  Thold pdgina Iscream
ﬂbala I count n!gias'a I add
ndsunga Iwatch 'suna I jump
rigaﬁb Idivide xala  Icut
mbi:ma Iweigh fuka Icook
rribulia Iroam  xola  Ido
mbuka Iperish | funa 1break
ngeta I pour | fwarra I dress

ndula [ trampel | se:nda [ move
1. Does this paradigm reflect a derivational or inflectional process?

L A P f Ao ¢ Anbpecd G WL perb ) but

'/t »/( ’/"./f‘ ( oA nudd

/]

2. What are the two possible word building processes used to create these verbs?

i/ ) Xufligotbn: oddiion o] -3 Auwlfoy o
7/ i L

H ot i_r.‘l\j%vi
D) Prelixadion: addidion of  a pacal (o, m- -, p-) Ao indicol persen; erxcept
Brfore an  unreiced  Condgmowct”? ae nate ot
3. Even though you identified two processes, there is only one underlying form. There are really two
different processes that effect the same underlying form. Explain which phonological changes alter the
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single underlying form.

l/f Ghiv aeeme o Augaet Fhat e  octuat prodd AL CAumx ol (n-root - a )
[ .
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English Morphology (6 Points) The word unhappiness has two possible tree structures.
A
A JO
" 1. Draw the two tree structures for unhappiness below. !
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2. Provide argumentation that demonstrates which of the two structures is correct.
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